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75.

76.

i

Arrange the Chronological order
1 Champaran 'Satya Graha
2. Kheda Satya Graha

3. Ahamadabad Struggle

4. Baisaki day

@) 1-2-3-4

€ 4-3-2-1

(E) Answer not known

B) 2-1-3-4
D) 3-2-1-4

SipsarTL_euHeD sroaufasliL(hSSIs.

i; grioupTer eSS s

101\6

2 GaLm s s

3. <issTuTsS GumymL LD
4. @UEFTE BT

A 1-2-3-4

(C) 4-3-2-1

E) ol QpRweiieama

"'(B) 2-1-3-4
D) 3-2-1-4

Name the biographical work of Abdul Kalam Azad which was written during his

internment in 1916.

(A) Tazkira

(B) Kadith

(C) Hayy Ibn Yaqdhan

(D) Kitab al-Miraj

(E)  Answer not known

1916 b ypamiged Hopaurssdler Guig) eTPSLILLL DIFIE SQTD RETSE QUTDEMS
gilengullen GLIWIT erevmen? :
(A) g;eitpefslgrr'

(B) &1dls

(C)  ap Guan wogmer

D)  Hsls i-ATR

(E) afen Ggflwellame
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7.

2]

: . f Qur'an from
: ' nSlathn o
Who produced the greatest work Tarjuman-Qur'an [a tra
Arabic to Urdu)?

‘ in Ali Ahmad
(A)  Dr. Zakir Hussain | By F akhruddlz A i
(C)  Maulana Abul Kalam Azad . (D) Mohamma

() Answer not known

SR @i [@ioyela omd Qonlddmps e Qumfise Gebwnuc,
QoM QU] e l&d A ue L UGenesr o (HeumdElwieum wimm?

A) Dr. son&r &m&eiﬂ/ '(B) oo LIG RS <160l @M LDS

(®) Querevmeyr SIY FHeomib A& - ‘D) @paniding coq@S] sdleeaTTaIn

(E) NenL CsMNweleranay

Which of the following statement is incorrect regarding Moulana Abul Kalam Azad?
He was born in Calcutta |

2. He was the editor of the Magaziné called 'Lisan ul Sidiq"

He published 2 journal namely 'Al hilal'

(A) 2, 3 are correct 1, 4 are incorrect
(B) 1, 2, 3 are correct 4 only' Incorrect
(C©) 1,2, 3, 4 are correct |

(D) 2,8, 4are correct 1 is incorrect
(E)  Answer not known

& upBlu S6UD ey Sapm Grg,ﬁ
@ Wb,
2. Bleuit ‘arer o e 858 eremm usgfMéamauer L

1. ClwerameT e daend DAFTG EDOESS M6
| ﬁuurreﬂrﬂmr'r <Speurr
Elouit iddame eremm Qs Qeuafiqr

Rl G 1920 0 1040 s g, powanms
(A) 2, 3 saphmiser sflwinetenen 1, 4 SHEUDTETEN Gl

B) 1,23 0. (D 1)) 8 6iT mﬂmrrsmbm 4@@ Fa M) Seupmeng

(C) 1,2, 3,4 oD M) &6 siluneneney

D) 2,3, 4 smpmiser sfwreneney leug snmm) seupmeng,

(E)  ofer CgsfMweldency = ' |
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79.

i

Which of thg following day was named to celebrafe the release of Bipin Chandra Pal
by Swadeshi Leader of Tamil Nadu.

(A)  Day of Deliverance (B) Day of Mourning

() Swarajya Day (D) Direct Action Day

(E)  Answer not known

Sps@ @hs prams GG spsrure edGg@e GeLwlLLL promer slps &Gs

ggmmmr'mm QuwM O Canm?

Q) SPsma mrer (B) g6 Hembd

Q) &Casd dled / (D) Cprig BLoug&ens BreT
(E)  e&ler Qeflueafeoene

Which one of the statement is correct regarding Bharathiar?

1. Bharathiar participated in the Indian National Conferance at Kasi in 1905.
In 1906 he started Balabharata Sabha at Chennai.

3. He participated ‘Surat Congress' in 1907 along with VOC.

4

to

He composed the Poem ‘Vangame Valiyave’.

(A) 1, 2 are correct 3, 4 are incorrect
(B) 1,2, 3, 4 statement are cofrect
(C) 1,2, 3 are correct 4 is incorrect
(D) 1,2, 3, 4 are incorrect statement

(E)  Answer not known

Lrgdlwreny upd SpsaTL sppiseie sflwreang) erg)?
1. umgdlwm 1905-a srélulled e Aupp Gidlu Cadlu smssThidd swnbg Qe

2. syeum 1906—6 ume LITgg sUT Greifrg) Sianwlienu Cgeamenemude gHu@sHen.
3. et 19070 @[ @7 sTabyav s L s eu.e 8. wien sebhg QemamLi.
4. euit ‘eurisCw aumfluGe’ eremm LML ene @uiHlujererT.

(A) 1, 2 saipmser sflwreaiencu 3, 4 sahmser seuprenaal
(B) 1,2, 3, 4 sanmscr sflunaiema.

(C) 1,2, 3 sapmad sflunaenal 4 eug g SeupTears)
(D) 1,2, 3, 4 smnmacn seupray)

(E) oo Qsflueiicvane
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81.

(09]

5]

The Editor of Tamil daily Kudiarast: —
(A)  Thanthai Periyar (D N Annadurai
(©) Satyumurti (D) &

(E)  Answer not known

Heanaf praflgonet @1 gl o dflwm

.
(A spes Quilumt (B) 4.7 4]
(D) £ GreuT. D|GHTETTSHIEDT

©)  ssHugpisd
(E) e Qsflweleranen

Name the person who threw a bomb along with Bhagat Singh on the Central

assembly in Delhi?
(A)  Sukh Dev
(C)  SohanSingh

(E) Answer not known

(B) Rajguru
(D) Batukeshwar Dutt

agHan Bz LasAhGLe @amenhg Cleg@er(® a8l

QLeveludled o emer wEHwW FL b
pufler QWi ereoren?

(A ssGsey B) QrraEm

(C)  Camaper &y | D) uL®Ga$@‘sraJr‘r &5
() eflen QaMuieferensy |

Rabindranath Tagore rénounced his knighthood in protest against.
(A) Home Rule League (B) Khilafat Movement
(C)  Jallian Wala Bagh Massacre (D) August Declaratioﬁ

(E)  Answer not known

geindlnBnsg Sranl eram@ erdliliL Qg_gfﬂaﬁ]g@ HOZ) UL G, SIDBSTT
(A)  Cammb emeb 606 B) donug, Quésid
(C) (@ADITGS]UJGE)T eumreTLImd: LI(HE&ETEne (D) eysevr N P

(E) ofeo Qg Mlueidene
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84.

1

Which one of the statement is correct regarding the Subhas Chandra Bose?

1.

Lo

2

(A)
B)
(©)
D)
(E)

Bose joined the freedom struggle under the leadership of C.R. Das

1921, he organised demonstration in Calcutta to protest against the visit of

Prince of Wales
He boycotted the Simon Commission in 1927

He sorted on the Secretary and President of Bengal Congress

1, 2 are correct 3, 4 are incorrect
1, 2, 3, 4 are correct

1, 2, 3 are correct 4 only incprrect
1, 3 are correct 2, 4 are incorrect

Answer not known

EnsaL spnsaile sutey shdy Cumemen LDMH sflwurer sapm g ?

o

(A) .
(B)
©)
(D)

(E)

sutay shEy Gumen, H.yi srev sooowuied @pswu MEsme GCumriLgsd
Qe

19216 Gme‘v@'u'@msuq&r'r BOESST0SHE eUHans Lilbgs Cug GTQ &S (PSSO LT
19276 anawen sageme @Q6u Lim&&antl&smT

cumigTeT Hridlredled CFwemeTyT&HeaD, g,ema)emqrras@da usell cudlggmm

1, 2 51 3, 4 sumTag)

1, 2, 3, 4 sflwner samm)

1, 2, 3 aflwimer gamm 4 $61MT60T & DM
1, 3 sflwimen gamm 2, 4 Heumrer samHm)

e9lemL G)gbr_ﬂtuaﬁ]c’vmm)
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' h ents
: i the statem
85. Regarding the Poona Sarvajanik SabhA a consider .

1.

o

e

i nisation
Mahadev Govind Ranade was the brain of the orga
‘ ' iti ights.
The Sabha awakened the people of their political rig
1878.
It protested against the vernacular press Act of

It published ‘Amrita Bazar Patrika’.

. . . 2
Which of the statements given above is/are correct’

A)
(B)
(©
(D)
(E)

1 and 2 only
2 and 3 only
1,2 and 3

1 and 3 only

Answer not known

LyeorT Freurmes genuil uDdl swSHer Qsmers.

L&1Cs6 Carellhs FranrCL Qeueilusssden apemeruimss Qeweou_ L

1.
' 2. @ FFenL wésefler oipfwed o Menwsenen ummdlul G)S]I(.QLIL_‘@'DTH'GU)QJ TOUBSEH W
| 3. 1878w t%sm(a ug‘e_ﬂrﬂama;& FLL S eTdn &S

4. Qeuellwssd ‘oibfg LT usfler ereay b LS fsemasenu Qe‘maﬂuﬁ]Ll_@
' CuwCGo b L aunsdlwsdler sflumareney ereney?

(A) 1 wpmid 2 wi_Fb

(B) 2 womib 3 wL_Hb

(C) 1, 2 opmwn 3

(D) 1 whmb 3w @b

(E) eflenL CgMweldene

GR1P/21
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86.

1

Which one of the stateme

1.

9

)

nt 1s incorrect regarding Gokhale?

He started “Servantg of Indian Seciety” in 1905

He went in to South Afric

a and helped Gandhi in his movement against
Colour bar

Gandhi accepted Gokhale as ‘Political guru’

Gandhi described Gokhale as

diamond of India, the Jewel of Maharastra and
Prince of Workers

1. 2, 3, 4 are correct

1, 2, 3 are correct only 4 is incorrect
1, 3, 4 are correct only 2.1s incorrect

1, 2 are correct 3, 4 are incorrect

Answer not known

Spaerr_ sapmiseie CarsGaanw uDMl Heupme DM 6TG)?

1.

2.

(o)

(A)
(B)
(C)
(D)

(1)

CaraCo “Qrdwu Larflwirerit P& et Sianoliens 19056 THUBSH i

Beur Qger LM EsTel m s Geemm HnQeudenw TETES sTHE L6 Qeveanhg
vemflwrd e '

518 CarsGaemw sarg) ‘oirdwe GOHUTS GHMIE Qs maLm

&mhsl CanaGaenw Qndwurefer eneurip, &EITeY g ITelen Hans, Qamfleomerisafer
E)ereursen eremm) currenfl &l empmit

1, 2, 3, 4 sapmser sfwnaneney

L, 2, 3 sapmsdr sfwneneney 4oug) ) SEUDTEIE)

1, 3, 4 sammser sMiwreneney 2608 sapm) SUDTEIG) /.

1, 2 sapmed sflwunenenes 3, 4 G| a0 HISHET Seum memdy

oSlemi_ Q;Lﬁ]m@‘ﬂéumeu
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89.

?
iti Mughal Court:
Wh d as British Ambassador to the
(A) 0 Sisr:fni:r (B) Edward Terry

(C)  Thomas Roe (D) William Hawkins

. (E)  Answer not known

WPsOTw rFeneuuded lﬁlrﬂl'_LqLQ's*; ngleuyme uesflummdlweurr wimm?

Q) Quiafwi ' (B) e aui’ Qg B
©)  smoav Crr D) aeredlwib aprédlerav
(E)  afleni Qsfwelcreanay | -

Who was called the “King of the Two Worlds”?

(A)  Tipu Sultan o (B) Hyder Ali _

(C)  Doondaji Waugh ' (D) Veerapandiya Kattabomman
(E)  Answer not known

Qe 2 DG e Gremmm) SBDWPSS IR UG wimF?

A Aoy &6 et / - (B @ansi é{@S]
©) ST me eums;

(E)  &9enL Qs MNweléraney

(D) eSyLmeRTg U &L QuUmbipeyr

What is Density of Population? _
(A)  The number of people living in per (one) sq. km.
(B)  The number of people liﬁng- in 10 8q. km.

(C)  The number of people living in 100 sq. km.

(D)  The number of people living in 200 sq. km.

(E)  Answer not known

&5 Qgnans; Cadley eremmmed orapran?

@A) am 5817 S1Cer 151 Mé USEGLD s sef e oT VT Gt s Gy
(B) 10 a8y11 HGeorr B fley U G@LD s e ey OT GUsT 690) s gy .
(C) 100 sy HCorr B Meb US&@ID &sef 6y 6T GoT 60 &5 61y 5
(D) 200 e85 HCovrr B Me US& @D Waasef e T GBI a0 5 6y
(E) &9 CsNweérene
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91.

i1

‘ d J . N ~ it 1 sy Porive
In 1929, at a Self Respeet Movement’ conference 1n Chengalpattu, 1 hanthai Periyar

esolution relating to an important matter — |
aw in this regard.

ent in this regard.

p:msad ar
_In 1989, 60 years later, Tamilnadu had passed a'l
_ On August 11, 2020 Supreme Court passed a judgm

What is this?

(A) Giving equal rights to woman in Gove

B)  Giving equal rights to woman in family prope

(©) Giving priority to certain communities in acquiring land rights
holy places

rnment employment
rties

(D)  Giving priority to certain sects in accessing
()  Answer not known

1929 opth pani(h) CamisLLlg & sl tiur L swwflurms Quss LIBMIGE, SHDS
Quilwni i péElw e wib Ggpmimes Sromensems @uipblesi.

_ swonit 60 e (HsEnsE 0@ 1989 pib e e, HOPEHLD DGEE FLL DTS @QuHbluwg.

— oypeavl 11, 20206 o dafSloampd g QgmLfrmen lé';r'rumuufo eugprr'ﬁeﬂ wg).

Cudstanid UsHAD gnpUul L el wibd wrg)?

A QuameniéE Sire Gauame eumiige 1o o flenw .

B) GOLL QsTsHd QueTEmES &0 2-fled |

C)  omée &ggaasréws@é;@ Heob 2 fleno Gupeudled peneiflenLo

D)  gmde YNlesErsd Lafls @Liisafle) Biampeudla penggiflento

(E) &len Gsflwellevenen . ,.

As per Vel Pari’ the book written by Thiru. Su. Venkatesan,. the Sahitya academy

winning writer v
(a) “Paari” was a man of nature who knew birds, insects, plants like the back of

his hand. |
(b)  The story “Vel Pari” was that of conflict between man’s greed and nature.
Which of the above statements is / are correct? . |
(A) (a)only _ (B) (b) only
(C) (a)and (b) (D) neither (a) nor (b)
(E)  Answer not known
snélpw sl Geuenn apssrerit S & QeuksCLsar Seuisammd  GTPSUILLL
“Coydr Lnfl” eremm mrede Lig 2_erar gfluimen sapenm | sapmsener GCsirey GQewiweyw.
(a)  “onfl” Unaeusdr, LFSET, Sreurmhise pdlweldmD Ml Qsefleursea|b, effleurseyd
DA mbs GUnHens Fihs LOGHIST eI, :

o . ” . o AR ° o . . . L . '
(b) souar Lmfl” senawineg) 1o efl & ol 6ot (oul)nai)ér&@m QuDHensd& @D @ enLulemenr (LpyeaesT

LIemEmHmISma).
(A)  (a) o’ (G B b)eles
(C)* () wpmibd (b) (D)"(a)mm@émeu (b) b Qevenew

(E)  eflen Qsiflueildae

9 | GR1P/21
[Turn over



winmeen.com

92 With regard 1o the review related to the Tamil Film and m2
Perumal', choose the correct statement(s)

(#)  Shows the ill effects of caste system

It won the Film Fare Award under the ‘Best film’ categors

It was a movie directed h}' Thiru .\”dﬂ ,’-,':;";araj and pr(;dh(f’

productions.

(B) (a)and (b) only
(D) (c)only

(A) (a) only
(C'y  (a). (b)and (c)

‘}',) \n"*‘ru()t }’ Oown

~ _
- &
s arh maa R o . - S PO SR - UEfpLl i3
v I e iuUnar UL WD o g 222 SR ——
»
2 G = - s £ . v ~ .
A v - A~ T b Py -~ - g ;1 = el
el . I S )BT sa e MW el JehD) 25T oF —en—
= /o - o O
3 ; X"‘ o 4 G G i = == oS DS -
e S A LML dar 9T el edeemaseld S Lo — DT =2
l‘-r)' 7~V DY « PEEAY . Bl <3 00 Q0. 0> = A== . ——=
-0 US55 D8S UL ’-oﬁ"" aur a' Ul dexoeUrTed5gl oa—_ =
~ -~ O
C ” - A s - e i Zowh St
J BuLs 5@ w ds@eutTgre Guasiul(y,  pad sumUy
~ - . - - '
o ) =

; (a) o (o (B) (a) LOHEYD (b) oG5
) D) (c) @b

p— -

oy Indiz has not become self-reliant in edible oil producmom
, I High cultivation cost

IL. Low productivity

III. Lack of Government support

IV.  Deficient domestic demand

(N
[

‘/""-I‘ II ’/:‘.}}' (B) I and HI
[ (€) L1 andII D) 1onlv

F)  Answer not known

I 5356 505 A5
S e 7 - dTws el
[T BT GE ,./z’ ,:"'f
44 R ) =D D
fJ'I vpE o mry e
-, Tl e WA
rey - R N T
i e D TR Uy /’:rlr_«,)‘.u"uf_,
. T r
3) JI > 9L fB) "; I”
S T Ir e r :
/,/ ) B § RSl e I J/ lD) I__‘__::'
4% PR ST PP o A
oy [ e WS,
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Which one of the following agricultural practices 1s ecofriendly?

94.

1

(A)
B
©)
D)
(E)

Organic farming

Shifting cultivation

Cultivation of high yielding varieties
Growing plants in glass houses

Answer not known

Qerau(mid efleusmw apamaafled 6rg @Pped BLL7?

(A)
B)
©)
(D)
(E)

&M Ceuermemtenn

FT@&Ulg LOTHOLD

SIF S &G0 F(HLD mm&;&aﬂcﬁ&n@uq
saarty eI(Hsafed GUET(HLD STeuhIGET

Sev Qsflweferene

"Every registered Land holder is its proprietor”. The system is called as

(A)
(B)
©)
D)
(E)

Ryotwari system
Mahalwari system
Za‘mindary sysfem
Mugalayar system -

Answer not known

"Léley Qeus Heosos aneuSFleTar @QJQQJW@QJ@LD S\ 60 (.J&rr;r,g;asasrrgrr St @BHS

(p@DEn H)EIeT SIEPESELD

(A)
(B)
(C)

(E)

Elyrwggieunt apam
waweurdl (pem

s Bengl penm
(g)aaa)rrum (y)emm"

eSlamL_ Glg;r‘r]u.:aﬁ]ebemu
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96.

Identify the sector(s) of Indian Economy which are the most affected by Covig
Pandeme

(a) MSME sector

(h) Aviation sector

() Touriem and Hospitality sector

(d) Telecommunication sector

(A)  (a) and (d) only (B) (a), (b) and (c)

(& (d) only (D) (a), (c) only

(E) Answer not known |

@rdu Quamengmgda, Garefll  QumpEgsTHDIED Bl D Gurswrs UTSEsLLLL

SlD(&en )

(a) S oppb pHSsT Gemfosar (MSME)

(h) &Slwomen CuNE@GaUTSHS)

(c) snpen wpob SlmHBECHMDUD QgmLTurer Qgmidleger |

(d) daree QgmLmy gen

(A) (a) whmw (d) LLHD (B) (a), (b) wHmwb (c)
(C)  (d) v (Bw o (D) (a), (c) wL_(Hd
(E) e Qsflwelievene

Which of the following states has shown the declining trend in the (GST) Goods and
Service Tax for the year 2019-20207

(A)  Uttar Pradesh, Rajasthan and Assam

() Haryana, Rajasthan and Mehalaya

(C)  Andhra Pradesh, Mathya Pradesh and Manipur
(1)) Maharastra, West Bengal and Tamil Nadu

()  Answer not known

20192020 © o emgen Camaen wHmid §75@ el ai@ela Gommhg) eumd CuréE srepmL@L

Lo d GUI &6 UIT6H 61 ?

O TR e .
(A) o Al 19y Es D, ggeng,neo HMILD HF LD
(1) U AlUITGONT, [JITeCE, 1601 WHmih G e
() oAl GlyCaen, gl GyGasib LOMHMID oGt 1T

(D) wamnygnep i, Cof@E, Gurnhigin HMID SUONPHI(EY
(E)  cbleor Gaflucilicoenc
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98.

i

Consider the following statement.

The objectives of fiscal policy are

1. Capital formation
0. Equitable distribution

3. Unemployment

1. Regional Balance

From these, which are correct statement?
(A) 2,3and4
(B) 1,2and4
(C) 1,3and4
D) 1,2and3

(E) Ansvwer not known

Gemeu(mLd SaHenm Seue

HlE& Camerengullem Gmméamigemel e

1. epeSET 2 (HeUMESLD
2. FLOLD TGN ué:]r'rcy

3., Ceumeeumiierenio
4. FLO6UL_LMY eueﬂr'réeﬂv

Geunmer, eranau &flwimear sapmi?
(A) 2, 3wnmwb 4

(B) 1,2 wpmd4”

C) 1,3womw4

(D) .1, 2 wpmid 3

(E) eenr Qsflweievana

53
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99. Consider the following statement.

The objective factors for determinants of consumption function are.

1.

8]

3.
4.

Motive of precaution
Motive of liquidity
Motive of avarice

Laissez-faire policy

Among the above, select the correct statement(s)

A)
(B)
(©)
D)
(E)

3 and 4
1,2and 3
1,2and 4
land 4

Answer not known

WGemaumbd saphenm seuef.

B&T6] sTTenU granr(Hélemn igeuw <A 6UET &TeT&eTTeL 6T

1.

b

3
4.

pearbessfsans Cpréswn -
BenL seenio Crrésid
Cupreng CrmésLb

sevaudlL g Qarerens

Cuwesranb sappisafler sflurareupenp Csirey Qsiiwuayb

(A)
(B)
(C)
(D)
(E)

GR1P/21

3 wHmib 4

1, 2 womb 3
1,2 w4/
1 womib 4

efem_ CgMluielcbana
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100. Which is not related to direct tax Revenues of the central government?

101.

U

(A) Taxes on Income

(B)  Taxes on property and capital transaction
©) Taxes on commodities and services

(D) Taxes on dividends and profits

(E)  Answer not known

widw rfler Crrg. aumeumieangser sy @darss) og)?
A)  e@orar el

(B)  Qerdg LOML epeser ol

(C) uaTLs LHMID Lewd eufh

(D) URSTSTW LHYID GeaTL o)

(B)  eferr Qpflwefdrane ‘

The first blue print for Indian plénning came from an engineer administrator
(A) M. Visvesvaraya |

(B) Nehru |

(C)  S.N. Agarwal

(D) M.N. Roy

(E) Answer not known

@{rbgmrraﬁleh Ié]l'_l_uS]L@ésasrrsm QUL TEIGET Wade eThs Quﬁgﬁ]mneﬁﬁ Blireurdud 10 mHs)

6Uh S 60T
(A) M. eflevCGeueveuyum
B)  Cmm *

(C) S.N. é{a;ﬁmrrei)v
(D) M.N. ymu
(E)  &SenL Qgilueleame

55 | GR1P/21
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102. Consider the following statement

ve very hi
1. Bihar, Madhya Pladesh Rajasthan and Uttar Pradesh ha gh

population.

2. InlIndia, Kerala has the lowest birth rate

3. West Bengal has the lowest death rate

Total population
Land area of the region

4. The density of the population is

Among thesé, which are the correct one(s)?
(A) 1 and 3 |

(B) 2 and 3

(®) 1,2 and 4

D) 3and4

(E) Answer not known
desmeu(mid gahenm asa’isuﬂé;a;
1. Senfr, wsdw GrGseid, @rmeyevgman wHND 2 7 ArCseb %A wme @4@5 D& G 6T
Cgrens QsmeprL wmblewmsn
| 2. Cayerm 088 Gepbs 9Dl e9fsb Qarer(Herarg

3. CuwhE eurismerid lsé Gonbs @oliy dssms Qere@ereng

4. W&&6T QGTens é{l_ﬁ"é;'é]-ﬂﬁhug] Qs ,"Dé;a;'— Qg’_"@”&
' | SLuEguler Bleliugiiy

CuwGe sar_eunmier sMwimareneu eTeneu?

(A)  1wpmb 3 » ‘
(B) 2wimb 3 |

(C) 1,2 wpmib4

D)  3wHpi> 4

(E) efenL_ @g,rﬂuaﬁ]sbmén
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103. Which are the correct Statement(s) related to “T-Bill’ Treasury bill? .
(@) They are issued by RB].

®) They are 1ssued by Govt, of India.
© Treasury bills pay no Interest,
(@  These are long term debt instruments.
A (@) and (d) only
©) (). (c) and (d)

(E)  Answer not known

(B) (b) and (c) only
(D) (b) and (d) only.

Spsramid spnsaiid ‘T-Bill’ (Treasury bill) Agmiumen sflwneneunenn G’g)rreu (AL
@ oo QbdHu Nemel eurdwime GeueflldLiu@SHemer.

) <@ wsdu irsred GeuaflLiL@deman.

() Sieummle LS@J aullg FFI_._I_. @u;isurrgj.

d e QBHRST HLen ug,gma;m%@m.

(A) /7 (a) wpmd (d) Lo (B) - (b) wpmid () wL_[Hid
©) (), (© wpmid (d) D) B o @ e
(E)  efenr GeMweldena '

Thanthai Periyar wanted people to cons1der the followmg as equal to their lives
(A)  Independence for the motherland '

(B)  The family honour
(C)  Self-respect
(D)  Rational faculty.

(E)  Answer not known

shang Cuflurt, wasser smser 2 ulméE eliung eearan CeuarHLb erer QS].@LbLS]UJQ]
(A)  smi priger i Hsme |

B)  @HbL sayyaub

(€)  swwilwurms

D) uessblub Hpan

(E)  eflen QsNweicrana
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105.

106.
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Consider the following statements:

]. V] ]]l‘ 1(“‘”] 1'{ ()'fi(‘(\ ()“ 1]'(‘ Ai-'()rl“‘., > > 1 ¢

is not fixed by the

constitution ‘
» leners India
The remuneration of the Attorney General of

constitution
. S 0
Which of the statements given above is/are correct!
(B) 2only

(A) 1 only
(D) Neither 1 nor 2

() Both 1 and 2

(E) Answer not known

P& sapenm eT@ia) s L .
NN . . . C Qs A 55 1LL 65 6vena)
LIPS s@@@W s eyfler Lgeianeid oigflueeanlibe bl uilé

1.

2 @pdu s@@en  aissdenfar sardluid sipflweenlibe Hliramuissiuehldeme
GerHastiul Herer curésd wniged org) sflwimeng)?

A) ° 1olEo | (B) 2wl

(€) 1 wpmyw 2 (D) 1 wHpmib 2 =eve

(E)  aer Qsfweldena

A Chief Minister supported by Thanthai Periyar challenged that “Show me a person
who died because a lower caste doctor wrongly injected or show me a building that

collapsed because it was built by a low caste engineer”. It was

(A)  Omandur Ramasamy

(B)  Kamarajar

(C)  Arignar Anna

(D) Kalaignar M. Karunanidhi

() Answer not known

gies Guflunflen s apa_en (LPHEVCHIDFET ¢ (HGUIT Qeueumm Feume NB&s i : “STps s

=]
WIASICUT Beumns oomé) Cun’Lgneé @mbs e Loeflg en GfGiﬂGUﬂLLb_&Errm&]é;asme SO
AMpEs sudl Clundlurengme Gaihg) CLme epi SLIGLSHMS eTemarilL 1b &Brreu'mﬁ]éaé;mm ” Seueumy
Sa Hluseurt urmi? :

(A) st Glymosmdb)

(B)  snwynggi

(C)  —=udlenit 2ichomesor™

(D) s@aeyi qp. smaenibli)
(E) el Caflueleency
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107. Consider the following statements,

i

A high court has jurisdiction to

(1) Punish for its contempt

(2) Tender advice on a legal question referred by President of India

(3) ’l‘vndor advice on a legal question referred by Governor of the State
(1) lssue certain writs to protect fundamental rights

Which of the above statement(s) is / are correct?

(A) (1) and (4) only

B) (1), (3) and (4) only

©) (1), (2), (3) and (4)

(D)  (2) and (4) only

(E) Answer not known

2 Wih&lwenm HHEmy @g,m.r'rurrérr SPEE@TL S0 HMSEET &H6ETES6LD.

(1) Fdwern SieubdllLsEEsEE Q’)G(SjUTI_GO‘)‘GUT UPRIGSD

(2) @iy Gyurs semeefiLblmbs Corsmarnsdr Ga;fla;uuu_rrei) NG QJEQréJa;eﬁmb
(3)  wrhle 2 EHBALBlHbHE pCoTsmanser CS&L&;LIuL/uer DMNG CULPRIGETLD

(4) =gl 2 Mawsmar UTESTULSDETS Sle GCurTaearsamer WpLIGGaaTLD.
Gleumbler eray gflwime &aHm?
(A) (1) wihmb (4) wHid

(B) (1), (3) wombd (4) wi(Hid

(C) (1), (2), (3) wimd (4)
D) (2) wiHmnbd (4) wL-(Hid
(E)  oflenL Gaifluieilevana
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108.  Which of the following statements are not true? _
(@ In v1969, the Government of Tamilnadu appointed a two-me.mber committee
called Rajamannar Committee to examine Centre-State relations.
(b) It recommended that All-India services should be abolished
(c) It 1*eéommended that Finance Commission should be made a permanent body
(A)  (a)is not true
(B)  (b) is not true
(C)  (¢) is not true
(D) (a), (b) and (c) are not true
(E)  Answer not known
EDSTILED cursdLkisalc Temal/ (g1) seupreng/(aneu)?
@ wsAu wrhle 2 paysmer ey Qe 1969 b 6 (® SUOPBTH A8 FregananTi
S 1. eremm Qe 2 puleraamend Qasmear G&W geaan HlwblEss.
b) < sde QBHw Csemausamer @lées CeuamBd eremyy LABH®TSSS.
(c) B8 ememmuid Bmieutiug L R0 BrBsr e@wliurs @@é;& Ceuat(Hd eremm
ufibgiamrsse - |
@) (@ seupreng |,
(B)  (b) sauprengye
©) (o) seumreng, | - .
D)  (a), (b) wpmd (c) SaDTETEnaL
(E)  elerr Qsflweldens
109. Which schedule of the Indian Constitution specifies the powers authority and
Responsibility of Panchayat?
(A)  Seventh schedule (B) Sixth schedule
(C)  Tenth schedule (D) Eleventh schedule
(E)  Answer not known |
@f@g‘,]u.; 2rflueewler ahs il Lamarida U@hEmugs wpevmulen UODD, sy
DM lumyiiyser @G LUl Hererer? :
(A)  Toug i L eumen B) 6eus o1 Leuanem
(C)  106ug @i Leuanem (D) 1161@1 I auanewt
(E) e&len ngﬂ@@ﬁ]@bmw
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